

# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 18, 2020

Progress Estimate Number 6		Contract ID Prime Contractor	191115-F03 Magruder Paving, LLC	Pay Period Start Pay Period End	May 2, 2020 May 15, 2020	Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,272,059.38 \$0.00 \$1,272,059.38			
Approval Date							By User			
May 18, 2020	Generated and Approved (and should be considered Draft) at the Project Office Level by									
May 19, 2020		Re	viewed and Approved (a	nd should be conside	ered Draft) at the	e Resident Engineer Level by	lewisj1			
May 19, 2020	Reviewed and Approved at the Central Office Controllers Office Level by									
Original Comp	Completion Date Current Completion Date Actual Completion Date % of Current Contract Amount									
August 14, 2020 August 14, 2020 91.20%										

No Milestones Exist for Contract

Contract Total Pay For Estimate No. 6								
		This Estimate	Previous	To Date				
191115-F03								
	Total Posted Items Pay	\$24,644.20	\$1,135,425.06	\$1,160,069.26				
	Gross Item Adjustments	\$6,943.73	(\$10,344.25)	(\$3,400.52)				
	Incentive	\$0.00	\$0.00	\$0.00				
	Disincentive	\$0.00	\$0.00	\$0.00				
	Liquidated Damage	\$0.00	\$0.00	\$0.00				
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00				
			\$1,125,080.81	\$1,156,668.74				
Contract Total Pa	yable This Estimate:	\$31,587.93						

# Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
J6S3306	0090	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$100.000	2	\$200.00		
	0180	6161025	CHANNELIZER (TRIM LINE)	EA	\$20.000	14	\$280.00		
	0220	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$18.000	30	\$540.00		
	0230	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	EA	\$300.000	11	\$3,300.00		
	0240	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.100	103,242	\$10,324.20		
	0250	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.100	100,000	\$10,000.00		
Project J6S3306 - Total									
Overall - To	tal						\$24,644.20		

### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3306	0040	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	MaterialCredit			71	\$21.75	\$1,544.25
	0040	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material			-71	\$21.75	(\$1,544.25)
	0040	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0005) due to user brinkr1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	71	\$21.75	\$1,544.25
	0050	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 5 on the current Payment Estimate.	224.16	\$53.49	\$11,990.32
	0050	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-224.16	\$53.49	(\$11,990.32)

Revision 4/1/2020 Page 1 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 18, 2020

Prog	ress Est	timate Number 6	Contract II Prime Con		5-F03 ıder Paving, L	LC Pay Period End May 15, 2020 Net Ch	al Contract A ange Order A t Contract A	Amount \$0	1,272,059.38 0.00 1,272,059.38
Project Number	Line No.	Item Descri	ption	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3306	0050		OUS PAVEMENT Material PG64-22, (BP-2)					\$53.49	(\$808,381.53)
	0050	BITUMINOUS F MIXTURE PG64		Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) due to user brinkr1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	15,112.76	\$53.49	\$808,381.53
	0050	BITUMINOUS F MIXTURE PG64		Other Item Adjustment		First Period Est. #6, Installed Qty 3683.60 tons, see Eproject for Asphalt Cement Price Adjustment (TON) report			(\$828.81)
	0050	BITUMINOUS F MIXTURE PG64		Other Item Adjustment	Asphalt Cement Price Adjustment	Second Period Est. #6, Installed Qty 11429.80 tons, see Eproject for Asphalt Cement Price Adjustment (TON) report			(\$2,571.71)
	0070	CONCRETE SII	DEWALK, 4 IN.	Material			-71.1	\$115.00	(\$8,176.50)
	0070	CONCRETE SII	DEWALK, 4 IN.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0006) due to user brinkr1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	71.1	\$115.00	\$8,176.50
	0300	K-31 TAL	L FESCUE SODDING	MaterialCredit			80	\$110.00	\$8,800.00
Total									\$6 9/3 73

Revision 4/1/2020 Page 2 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information												
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work							
J6S3306	FAS S501(99)	Resurface	Р	ST CHARLES	from Rte 61 in Flint Hill to	rom Rte 61 in Flint Hill to Rte M in O'Fallon							
Totals by Job Numbers													
Totals by J	Job Numbe	ers											
Totals by J	Job Numbe	ers			This Estimate	Previous	To Date						
	Poste	d Item Pay			\$24,644.20	\$1,135,425.06	\$1,160,069.26						
•	Poste			s Item Pay									
	Poste	d Item Pay Item Adjustm		s Item Pay	\$24,644.20 \$6,943.73	\$1,135,425.06 (\$10,344.25)	\$1,160,069.26 (\$3,400.52)						
•	Poste Gross	d Item Pay Item Adjustm		s Item Pay	\$24,644.20 \$6,943.73 <b>\$31,587.93</b>	\$1,135,425.06 (\$10,344.25) <b>\$1,125,080.81</b>	\$1,160,069.26 (\$3,400.52) <b>\$1,156,668.74</b>						
	Poste Gross Incent Dising Liquid	d Item Pay s Item Adjustm	Gross s	,	\$24,644.20 \$6,943.73 <b>\$31,587.93</b> \$0.00	\$1,135,425.06 (\$10,344.25) <b>\$1,125,080.81</b> \$0.00	\$1,160,069.26 (\$3,400.52) <b>\$1,156,668.74</b> \$0.00						

Revision 4/1/2020 Page 3 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

# **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6S3306, Item 3040143, Project Item Line Number 0040, Material Set 304014396, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Working with Materials, Base T1T5 Gard QA test	brinkr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3306, Item 4011211, Project Item Line Number 0050, Material Set 401121196, Material 0401BPPMBP2 - Plant Mix for Bit Pavement BP-2, Acceptance Action Generic AspLow is insufficient.	Working with Materials, HMA Asphalt QA	brinkr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3306, Item 6086004, Project Item Line Number 0070, Material Set 608600496, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Working with Materials T27Grad QA	brinkr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3306, Item 6086004, Project Item Line Number 0070, Material Set 608600496, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Working with Materials T27 Grad QA	brinkr1	Overridden
Estimate Exception Type: Item Overrun: Contract 191115-F03, Contract Project J6S3306, Project Item Line Number 0050, Contract Line Item Number 0050, Item 4011211, Minor Item.	Override for this exception was system generated due to greater item withholding on other pay estimate exceptions.	brinkr1	Overridden

Revision 4/1/2020 Page 4 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category		Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191115-F03	J6S3306	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.25	\$5,600.00	\$1,400.00
		0001	0020	2072000	LINEAR GRADING CLASS 2	1.40	0.00	1.40	STA	1.40	\$1,500.00	\$2,100.00
		0001	0030	2153000	SHAPING SLOPES, CLASS III	8.00	0.00	8.00	100F	8.00	\$1,400.00	\$11,200.00
		0001	0040	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	71.00	0.00	71.00	SQYD	71.00	\$21.75	\$1,544.25
		0001	0050	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	14,888.60	0.00	14,888.60	TONS	15,112.76	\$53.49	\$808,381.53
		0001	0060	4071005	TACK COAT	18,000.00	0.00	18,000.00	GAL	0.00	\$2.15	\$0.00
		0001	0070	6086004	CONCRETE SIDEWALK, 4 IN.	71.10	0.00	71.10	SQYD	71.10	\$115.00	\$8,176.50
		0001	0080	6089902	MISC.ADA CONCRETE CURB RAMP	4.00	0.00	4.00	EA	3.00	\$1,375.00	\$4,125.00
		0001	0090	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$100.00	\$200.00
		0001	0100	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	133.00	0.00	133.00	SQYD	0.00	\$10.52	\$0.00
		0001	0110	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	133.00	0.00	133.00	SQYD	0.00	\$27.84	\$0.00
		0001	0120	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	40.20	0.00	40.20	TONS	2.50	\$107.00	\$267.50
		0001	0130	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	135.60	0.00	135.60	SQYD	18.60	\$149.53	\$2,781.26
		0001	0140	6139905	MISC.REMOVE, FURNISH AND PLACE MATERIAL FOR FULL DEPTH BITUMINOUS PAVEMENT REPAIR	442.70	0.00	442.70	SQYD	296.60	\$143.41	\$42,535.41
		0001	0150	6161005	CONSTRUCTION SIGNS	1,343.00	0.00	1,343.00	SQFT	604.00	\$5.00	\$3,020.00
		0001	0160	6161008	ADVANCED WARNING RAIL SYSTEM	20.00	0.00	20.00	EA	4.00	\$45.00	\$180.00
		0001	0170	6161009	FLAG ASSEMBLY	20.00	0.00	20.00	EA	10.00	\$20.00	\$200.00
		0001	0180	6161025	CHANNELIZER (TRIM LINE)	250.00	0.00	250.00	EA	24.00	\$20.00	\$480.00
		0001	0190	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$850.00	\$0.00
		0001	0200	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN CONTRACTOR FURNISHED AND RETAINED	2.00	0.00	2.00	EA	2.00	\$5,100.00	\$10,200.00
		0001	0210	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$44,400.00	\$44,400.00
		0001	0220	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	46.00	0.00	46.00	LF	30.00	\$18.00	\$540.00
		0001	0230	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	11.00	0.00	11.00	EA	11.00	\$300.00	\$3,300.00
		0001	0240	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	106,268.00	0.00	106,268.00	LF	103,242.00	\$0.10	\$10,324.20
		0001	0250	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	107,484.00	0.00	107,484.00	LF	100,000.00	\$0.10	\$10,000.00
		0001	0260	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	180,013.00	0.00	180,013.00	SQYD	171,173.00	\$0.67	\$114,685.91
		0001	0270	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,046.70	0.00	1,046.70	STA	550.60	\$16.50	\$9,084.90
		0001	0280	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	509.80	0.00	509.80	STA	419.80	\$26.00	\$10,914.80
		0001	0290	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$3,500.00	\$0.00
		0001	0300	8033000	K-31 TALL FESCUE SODDING	80.00	0.00	80.00	SQYD	80.00	\$110.00	\$8,800.00
		0010	0310	6061060	MGS GUARDRAIL	150.00	0.00	150.00	LF	150.00	\$22.00	\$3,300.00
		0010	0320	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	5.00	0.00	5.00	EA	5.00	\$3,000.00	\$15,000.00
		0010	0330	6061075	MGS LONG SPAN GUARDRAIL SECTION	2.00	0.00	2.00	EA	2.00	\$2,800.00	\$5,600.00
		0010	0340	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	9.00	0.00	9.00	EA	9.00	\$2,900.00	\$26,100.00
		0040	0350	9031280	2.5 IN. PSST POST - 12 GA.	26.00	0.00	26.00	LF	26.00	\$20.00	\$520.00
		0040	0360	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	6.00	0.00	6.00	LF	6.00	\$40.00	\$240.00
		0040	0370	9035069A	SHF-FLAT SHEET FLUORESCENT	18.00	0.00	18.00	SQFT	18.00	\$26.00	\$468.00
	Project J	6S3306 - To	otal Value	Posted to D	Date as of Report Generated Date							\$1,160,069.26
91115-F03 Ove	rall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$1,160,069.26

Revision 4/1/2020 Page 5 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J6S3306

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0090	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	5/12/20	5/18/20	2.00	EA	Rte. P full length of job site EB and WB	10+00		536+65		qty 2 truck mounted attenuators were used while installin Rumble strip
0180	6161025	CHANNELIZER (TRIM LINE)	5/12/20	5/18/20	14.00	EA	WB Rte. P at Dames Park Rd. to protect turn lanes 4" white stripes, and new arrows					
0220	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	5/12/20	5/18/20	30.00	LF	qty 1 stop bar Rte. P EB left turn lane at Rte. M, qty 1 stop bar Rte. P EB lane at St. Paul Rd., qty 1 stop bar Rte. P WB lane at St. Paul Rd.	10+00		544+68		
0230	6200021	PREF THERMO PVMT MARK, LT/RT ARROW	5/12/20	5/18/20	11.00	EA	qty 2 right arrows on Rte P at Gobble Rd., qty 2 right arrows, and 2 left arrows on Rte. P at Dames Park Rd., qty 3 left turn arrows, and 2 right arrows located just west of Rte. M					
0240	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	5/12/20	5/18/20	103,242.00	LF	Rte. P Full length of job 4" white stripe shoulders	10+00 LT & RT		536+65 LT & RT		
0250	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	5/12/20	5/18/20	100,000.00	LF	Rte. P center line stripes, full length of job site	10+00 CL		536+90 CL		

The information below this line are details from Line Item agency views. No Agency View Details Exist

Revision 4/1/2020 Page 6 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0040	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material		2	Mar 16, 2020	SYSTEM	(\$1,544.25)	
				3	Apr 2, 2020	SYSTEM	(\$1,544.25)	
				4	Apr 16, 2020	SYSTEM	(\$1,544.25)	
				5	May 4, 2020	SYSTEM	(\$1,544.25)	
				6	May 18, 2020	SYSTEM	(\$1,544.25)	
				6	May 18, 2020	SYSTEM	\$1,544.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user brinkr1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				(\$6,177.00)	
	Material - Total						(\$6,177.00)	
	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	MaterialCredit		3	Apr 2, 2020	SYSTEM	\$1,544.25	
	,			4	Apr 16, 2020	SYSTEM	\$1,544.25	
				5	May 4, 2020	SYSTEM	\$1,544.25	
				6	May 18, 2020	SYSTEM	\$1,544.25	
			- Total				\$6,177.00	
	MaterialCredit - Total						\$6,177.00	
0040 -							\$0.00	
		Madanial		_	Man 4	OVOTEM		
0050	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	Material		5	May 4, 2020	SYSTEM	(\$808,381.53)	
				5	May 4, 2020	SYSTEM	\$808,381.53	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user brinkr1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				6	May 18, 2020	SYSTEM	(\$808,381.53)	
				6	May 18, 2020	SYSTEM	\$808,381.53	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user brinkr1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	Other Item Adjustment	ACAD	6	May 18, 2020	brinkr1	(\$828.81)	First Period Est. #6, Installed Qty 3683.60 tons, see Eproject for Asphalt Cement Price Adjustment (TON) report
				6	May 18, 2020	brinkr1	(\$2,571.71)	Second Period Est. #6, Installed Qty 11429.80 tons, see Eproject for Asphalt Cement Price Adjustment (TON) report
			ACAD - Tota	al			(\$3,400.52)	
	Other Item Adjustment - Tota						(\$3,400.52)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	Overrun	Overrun	5	May 4, 2020	SYSTEM	\$11,990.32	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 6 on the current Payment Estimate.
				5	May 4, 2020	SYSTEM	(\$11,990.32)	
				6	May 18, 2020	SYSTEM	(\$11,990.32)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				6	May 18, 2020	SYSTEM	\$11,990.32	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 5 on the current Payment Estimate.
			Overrune T	otal			\$0.00	on the current rayment Estimate.
	Overmen Testal		Overrun - T	Jiai				
	Overrun - Total						\$0.00	
0050 -							(\$3,400.52)	
0060	TACK COAT	Material		4	Apr 16, 2020	SYSTEM	(\$7,550.80)	
			- Total				(\$7,550.80)	
	Material - Total						(\$7,550.80)	
	TACK COAT	MaterialCredit		5	May 4, 2020	SYSTEM	\$7,550.80	

Revision 4/1/2020 Page 7 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0060		MaterialCredit	- Total				\$7,550.80	
	MaterialCredit - Total						\$7,550.80	
0060 -	Total						\$0.00	
0070	CONCRETE SIDEWALK, 4 IN.	Material		2	Mar 16, 2020	SYSTEM	(\$8,176.50)	
				3	Apr 2, 2020	SYSTEM	(\$8,176.50)	
				4	Apr 16, 2020	SYSTEM	(\$8,176.50)	
				5	May 4, 2020	SYSTEM	(\$8,176.50)	
				5	May 4, 2020	SYSTEM	\$8,176.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user brinkr1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				6	May 18, 2020	SYSTEM	(\$8,176.50)	
				6	May 18, 2020	SYSTEM	\$8,176.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user brinkr1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				(\$24,529.50)	
	Material - Total						(\$24,529.50)	
	CONCRETE SIDEWALK, 4 IN.	MaterialCredit		3	Apr 2, 2020	SYSTEM	\$8,176.50	
				4	Apr 16, 2020	SYSTEM	\$8,176.50	
				5	May 4, 2020	SYSTEM	\$8,176.50	
			- Total				\$24,529.50	
	MaterialCredit - Total						\$24,529.50	
0070 -				_		0) (0 = = 1	\$0.00	
0300	K-31 TALL FESCUE SODDING	Material	- Total	5	May 4, 2020	SYSTEM	(\$8,800.00)	
	Material - Total		- IOIai					
	K-31 TALL FESCUE	MatarialCradit		6	May 10	CVCTEM	(\$8,800.00)	
	SODDING	MaterialCredit	- Total	6	May 18, 2020	SYSTEM	\$8,800.00 \$8,800.00	
	MaterialCredit - Total		Total				\$8,800.00	
0300 -							\$0.00	
0310	MGS GUARDRAIL	Construction Stockpile		1	Mar 2, 2020	SYSTEM	\$1,563.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				3	Apr 2, 2020	SYSTEM	(\$1,563.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Tota	ıl					\$0.00	
0310 -	Total						\$0.00	
0320	MGS BRIDGE APPROACH TRANSITION SECTION	Construction Stockpile		1	Mar 2, 2020	SYSTEM	\$6,467.50	Payment Estimate Item Adjustment generated Stockpile Transaction
	(REGULAR/NO CURB)			3	Apr 2, 2020	SYSTEM	(\$6,467.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Tota	ıl					\$0.00	
0320 -	Total						\$0.00	
0330	MGS LONG SPAN GUARDRAIL SECTION	Construction Stockpile		1	Mar 2, 2020	SYSTEM	\$2,312.50	Payment Estimate Item Adjustment generated Stockpile Transaction
				3	Apr 2, 2020	SYSTEM	(\$2,312.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
Construction Stockpile - Total							\$0.00	
	Total						\$0.00	

Revision 4/1/2020 Page 8 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0340	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		1	Mar 2, 2020	SYSTEM	\$13,590.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				3	Apr 2, 2020	SYSTEM	(\$13,590.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0340 - Total							\$0.00	
Overall - Total							(\$3,400.52)	

Revision 4/1/2020 Page 9 of 9